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Rabi Akivoh said; I will correct it, so - 279757 32192 INRIIT 2TRT Y IRHW
that the words of the sages should be upheld; that all movables, with the
thickness of a prod, transfer Tu’moh on the person who carries them

Overview

¥ sought to compromise between the P"n of the 71wn who maintains that 75u50n
YT 2D are OXMVA DX PRI, and ©"7 who maintains that the 72’ was Xav
because of 0°12°m2 ARmw. Therefore ¥"7 stated that regarding the person who is
carrying the ¥71n, the rule is ¥777 2212 aRAIW 1R PHVHLAT 9.

moIN explains the XMW PR°21 on the person carrying an item Y7717 *21w5 which is nan %y 28n -
- ©5913N3 ANDIV TPY RYT XIPD 199N NYAYW NNML INNDVY 9NN DIUN

Because of ®11X, so he becomes 't nx»1 X»Wv even in a case where the rule of

25712172 IR2W is not applicable -
= 99%2Y ¥79191 192 0N TND YIY P

For instance where there is a cloth which separates between the y79» and the

carrier’s flesh; in which case, without this 7772 the rule would be -
- N2 01X 99930 139907 ©YAN BIYN NyaY NNMIV RNV 70NV

That the 977 which is touching the ¥777 is 't nR21WY XY because of 2°112am2 XM,

meaning connection with the %X to the n» -
= NHIINTI NHVT 299 NNMDIV NIN 1929719 199N NIV 19N DTRN)

But the person, who merely touched the 770 is not 'T NX™W KBV even 112777,
rather he is only 29y nx»w Xnv, which he is n''77 xnw -

= (ow 3,31 97 91) 17322 /) P91 *homTs
As is evident in 912 ' P98, Nevertheless, even though he is not 't nXm0 XaW on account of

0°7272 AN -
— AN DIV /T NRMIV ROV BTR XY 191

The o°no11 were =13 that he should be 't nx21 82w because of »7IR even though the

' The 2" and the "W say that this M90n and the previous one ¥y»aww 7"7 and the following one 91 71" are all
one N1voN.

% This is not like 71971 " who maintained that the 72°X was '7 X1t because of 2°1272 XMW, See previous ¥yaww 7"7 '01N.

3 If the person’s body was in contact with the ¥7% then he is 0" T nxmw &nw for it is 2*M2n2 AxML. We do not need
a 7. [There is no 278 NV to transfer the 78MW on the 13°X, since there is no 7Y 7NO.]

* The X"wAan amens this to read, N»2 98 ™21 (instead of NP3 BT *N2M).

> We do not say since the 07X is 127 to the 170 and the 9M0 is 127 to the ¥771, so it is as if the 27X is 72177 to the
¥77n, which would make him 't DX Xnv. This we do not say; only one M2°1 but not two 271271 1272 7" 7N w"»Y.
% To be 9X nxm1w Xnv there is obviously no need for physical contact, as long as one is under the airspace of the 97X.
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71 does not have a rdw nnw. The reason for this 7772 1S -
- 71:"112!‘\2 ANV P DIYT PRY DN YV NOY

So that those who do not know the laws of 2s12ar2 81 should not be mistaken -
- NV 19PN YIY 113 "HAN DIV 29Y NNV RPOY 1IN

And assume that the farmer is 29 nX»w X»w because of ¥R, since the

circumference is a 9Y, so it is sufficient to be 2182 XnvY; as a result -
= 29 NNV NON HAND PPRY 919919 'NON 19 ON

Therefore they will come to say that %718 only has 29 nX», when in fact 97X is
T NRMY RNvA -
= DN NHPVIN OTNI /T RNV XYW 1IN 99

Therefore the o101 decreed that the 12°X should be 't X»w like a person who

became X»v in an 1IN -
198 D590 NYYY ¥19117 1929 1353 DID91 XN 1999 1991 NHY

(For) [And] they did not differentiate, even if there would be a three or four
cloth separation between the person and the y792 -

— 9:95 I8 Swrn N w29 01N XD
So the person would be a fourth or fifth, or more steps removed from nxmw,

nevertheless he is 'T NRMW ®1Ww for it is considered a 132777 2R DRMW -
= NIV D12 22 1IORY \Y 2D YVIVO PHVIVNN DN 1PN

And even if these P>whun which are nni 9y 2°7xn are flat wooden utensils (they

cannot contain anything within them) so they are not capable of becoming N -
— ©9%2Na ANNIV DN NIY NDY

So that 2122 782 is not applicable to them, nevertheless 17511 X7 and he is 't nR=W Xnv.

7 Those people who are not that learned will see that this person is 27y nX»1 Xnv. We know the reason he is Xnv
27y NRA is because the 770, which touched the ¥71 (which is an 78”7 aR), is not merely a aXMY? WK (by
touching the XY aX), but rather an 7XMYI AR (because it is @* M2 with the ¥77) and therefore it can be Xnwvn the
72°KR to become a WX for 217v nXmv. However the people who are not familiar with 2°m2m2 ARmw will be puzzled
why this person is 27y nRML &Y (since the 7710 which touched the ¥7 is only a 7xmw% MWK [according to their
lack of knowledge of o M1an2 nxnw], which cannot be [2°731] 078 Xawun). The solution which they will come up with
is, as 'o1n suggests, that the ¥771 is Xnvn the person 27x32 (for which no contact is needed), and that 278 nxmw is only
a 17y nxkmw. See ‘Thinking it over’.

¥ The v79n was 277%n simultaneously on the n and on the 72°.

? It would seemingly read easier if it said %1 821 instead of P91 Kow.

'O'If there was one 770, the person is a WX1; the 7710 is an XMV AR (because of 0°12M72 1XMY) and the person is a
R, If there are two layers of 0770, the first is an n¥mW7 2K, the second is a n¥mW? MWK and the person who
touches the WX is theoretically a "1w. However a person cannot become X»nv from a 1WwX (and become a "1v), he
can only become X1t from an ARM™IVA 2R (or AXMIVIT MR *2X). The more 0°7170 the further the person is from AXMY; a
Ui Y19, ete.

"' n this case (as opposed to where there is one 1710, where the person is 27¥ XMV XnW), the 73°X is not ¥nv at all,
nevertheless they were 't nX1210 7713 on this person as well, even though there is no wwn that they may think (in this
case, if there were no 717°13) that 7R nRAW is only 27V nRMD.

2
TosfosInEnglish.com



¥R 7"7 "0 X, N2w 702

mooin qualifies that even though 2%n 8 regarding the amount of 2°3710 or ¥ 22 "LWD -
- 5N DIVN NIAY Y99 ry0NY XY 191 MNSA YN NIV 19PN WIY Y1991 Y21y NPT

But nevertheless this 777°1 was only if the 1"20%vn are the width of a ¥7a%, whose
circumference is a nmow, however if it is smaller than this amount, there can be

no mistake that the 12°X is 821 on account of 97X, for it is too small to be considered
an 7R, there is no 7713, and he will be a 29y DMLY NWRI -
$DYLVN IIRY? NIN WV XY DINAND ANMIV YT XDV 29 DY GN)

And even though these people do not know of 2>12r72 7N™, nevertheless they
will not be mistaken and assume it is 27X nRA0 (since it is so small; it does not

even have a 19772 oY), but rather they will ask for the reason why is the xnv 18
27y nRM1Y and we will infirm them of 2°71272 ARMIY so the 7710 is an AXMVT AN

Summary
According to ¥"1 since people are unaware of 0°712r2 ARMW therefore if the 72°X

would be 27y nxmw &nw they would assume that he became Xnv through 97X, and
consequently presume that 2% DX is 279 nRAW. The 7712 was that in all cases he
1S 'T NRMIL RAw.

Thinking it over
How can n1von say that the people who see this 27y n¥mw Xnv 72X, will assume

that he is XY on account of 77X n&mw, and therefore they will conclude that nxmw
DR is only a 27v nxmw,'> When it states clearly in the 770 that" 3 QX 77inT DNT
D2 NYW XY 20K YR 921 20RT 98 K27 92 20K2 nay; how can 'oin say that they
will assume that 91X NR™IY is 299 NRMY?!

12'See footnote # 7.
13 30,00 (npIm) MM,
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